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Questions

1. If  is a surjection defined by 

 then find B.

Watch Video Solution

A = {0, , , , } and f : A → B
π

6

π

4

π

3

π

2

f(x) = cos x

2. Find the domain of the real function 

Watch Video Solution

f(x) =
1

log(2 − x)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_b8rXLt8gkZBU
https://dl.doubtnut.com/l/_Ginxz9lPXFAu
https://dl.doubtnut.com/l/_nkx4GlymyHt3


3. A certain bookshop has 10 dozen chemistry books, 8 dozen physics

books, 10 dozen economics books. Their selling prices are Rs80,Rs60 and

Rs,40 each respectively. Find the total amount the bookshop will receive

by selling all the books, using matrix algebra.

Watch Video Solution

4. If  , then find A+A' and AA'.

Watch Video Solution

A = [
2 −4

−5 3
]

5. IF  are non-coplanar, then prove that the points with position

vectors  are

coplanar.

Watch Video Solution

ā, b̄, c̄

2ā + 3b̄ − c̄, ā − 2b̄ + 3c̄, 3ā + 4b̄ − 2c̄, ā − 6b̄ + 6c̄

https://dl.doubtnut.com/l/_nkx4GlymyHt3
https://dl.doubtnut.com/l/_E5hZgtig7qSf
https://dl.doubtnut.com/l/_MbMQ5PDK6Nx0


6. Let . Find the unit

vector in the opposite direction of 

Watch Video Solution

ā = 2 ī + 4j̄ − 5k̄, b̄ = ī + j̄ + k̄, c̄ = j̄ + 2k̄

ā + b̄ + c̄

7. IF and  then show that  and 

 are perpendicular to each other.

Watch Video Solution

ā = ī + 2j̄ − 3k̄ b̄ = 3 ī − j̄ + 2k̄ ā + b̄

ā − b̄

8. Prove that .

Watch Video Solution

= cot 36∘cos 9∘ + sin 9∘

cos 9∘ − sin 9∘

9. Find period of .

Watch Video Solution

tan(x + 4x + 9x + ……. n2x)

https://dl.doubtnut.com/l/_nMu8mO49uqW7
https://dl.doubtnut.com/l/_Jc5RtFEdVRVD
https://dl.doubtnut.com/l/_wJb50SLuXtVS
https://dl.doubtnut.com/l/_kQHIDlAX6VdZ
https://dl.doubtnut.com/l/_wncXFOZI2bxI


10. If 

Watch Video Solution

sinh x = 3  then show that x = log(3 + √10)

11. Show that 

Watch Video Solution

∣
∣
∣
∣

bc b + c 1

ca c + a 1

ab a + b 1

∣
∣

∣
∣

= (a − b)(b − c)(c − a)

12. If ABCDEF is a regular hexagon with centre O , then P.T

Watch Video Solution

¯̄̄ ¯̄¯AB + ¯̄̄ ¯̄¯AC + ¯̄¯̄¯̄AD + ¯̄̄ ¯̄¯AE + ¯̄̄¯̄¯AF = 3̄ ¯̄¯̄¯AD = 6̄ ¯̄̄ ¯̄AO

13. IF  and  ,find 

.

Watch Video Solution

ā = ī − 2j̄ − 3k̄, b̄ = 2 ī + j̄ − k̄ c̄ = ī + 3j̄ − 2k̄

ā. (b̄ × c̄)

https://dl.doubtnut.com/l/_wncXFOZI2bxI
https://dl.doubtnut.com/l/_3ZfwaRhBbOQI
https://dl.doubtnut.com/l/_0Vg8XPhp4LTm
https://dl.doubtnut.com/l/_T7lyr3dfZLFQ


14. If A is not an integral multiple of , prove that 


(i)  


(ii) cot A - tan A = 2cot 2A`

Watch Video Solution

π

2

tan A + cot A = 2 cos ec2A

15. Solve that following equations : 

Watch Video Solution

2 cos2 θ + 3 sin θ = 0

16. Show that: 

Watch Video Solution

cos(2 ) = sin(4− 1 )
tan− 1 1

7

1

3

17. त्रिभुज ABC में , सिद्ध कीजिए कि 

 
tan = cot
B − C

2
b − c

b + c

A

2

https://dl.doubtnut.com/l/_T7lyr3dfZLFQ
https://dl.doubtnut.com/l/_stlzvWOp29dE
https://dl.doubtnut.com/l/_memJwGwVzeQ0
https://dl.doubtnut.com/l/_pDxYGIWLbuyw
https://dl.doubtnut.com/l/_ewICBaAZfADQ


 


Watch Video Solution

tan = cot
C − A

2

c − a

c + a

B

2

tan = cot
A − B

2

a − b

a + b

C

2

18. If  are two bijective functions then prove that 

 is also a bijective function.

Watch Video Solution

f : A → B, g : B → C

gof : A → C

19. For all , prove by principle of mathematical induction that, 


 to terms .

Watch Video Solution

n ∈ N

+ + + . . .
1

1 ⋅ 4

1

4 ⋅ 7

1

7 ⋅ 10
=

n

3n + 1

20. IF  than find .

Watch Video Solution

A =
⎡
⎢
⎣

1 −2 3

0 −1 4

−2 2 1

⎤
⎥
⎦

(A' ) − 1

https://dl.doubtnut.com/l/_ewICBaAZfADQ
https://dl.doubtnut.com/l/_Fls0RLe4rE2f
https://dl.doubtnut.com/l/_XHhtpO3OQ1EH
https://dl.doubtnut.com/l/_i73flgsA3yzj


21. Solve the following system of equations by using Cramer,s ruel . 

Watch Video Solution

3x + 4y + 5z = 18, 2x − y + 8z = 13, 5x − 2y + 7z = 20

22. If

then find distance between 

Watch Video Solution

A = (1, − 2, − 1), B = (4, 0, − 3), C = (1, 2, − 1), D = (2, − 4, − 5)

¯̄̄ ¯̄¯AB, ¯̄¯̄¯̄CD

23. 

Watch Video Solution

sin2( ) + sin2( ) − sin2( ) = 1 − 2 cos( )cos( )sin( )
A

2

B

2

C

2

A

2

B

2

C

2

https://dl.doubtnut.com/l/_i73flgsA3yzj
https://dl.doubtnut.com/l/_pj2vLqglXhhQ
https://dl.doubtnut.com/l/_TbgC0bqb4Fyk
https://dl.doubtnut.com/l/_7ZodpogPWDMv


24. In a , If a=13 , b=14 , c=15, find and .

Watch Video Solution

ΔABC R, r, r1, r2 r3

https://dl.doubtnut.com/l/_Vx0J4Vka6Iix

